[image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ]
[image: ]
[image: ][image: ]
image7.png
Partner’s Capital Accounts

Dr cr
A B A B
Particulars Particulars

To Drawings Alc 9,000 | 18,000 | By Balance b/d 60,000 | 45,000
To Interest on Drawings A/c 150 210 | By Interest Capital Alc 4,500
To Balance ¢/d 64,566 | 48434 | By Salary Alc 12,000
By P and L Appropriation A/c 7716 | 5,144
73,716 | 66,644 73,716 | 66,644

Working Notes :

1. Calculation of Interest on Capital

Interest on A's Capital = 60,000 x %=6,000

10

Interest on B's Capital = 45,000 x 10 =4,500
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Aand B are partners sharing profits and losses in the ratio of 3 : 1. On 1st April, 2017, their capitals were: A % 50,000 and B % 30,000 During the year ended 31st
March, 2018 they eamed a net profit of % 50,000. The terms of partnership are:

(a) Interest on capital s to allowed @ 6% p.a

(b) A will get a commission @ 2% on turnover.

(¢) B will get a salary of Z 500 per month

(d) B will get commission of 5% on profits after deduction of all expenses including such commission.

Partners drawings for the year were: A % 8,000 and B % 6,000. Turnover for the year was ¥ 3,00,000. After considering the above facts, you are required to prepare
Profit and Loss Appropriation Account and Partners Capital Accounts.

Solution:
Profit and Loss Appropriation Account
For the year ended March 31,2018
Dr cr
Particulars Rs. Particulars Rs.
To Interest on Capital A/c By Profit and Loss Alc 50,000
A 3,000 (Net Profit)
B 1,800 4,800
To B's Salary A/c(500 x 12) 6.000
To Partner's Commission A/c
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To Partner's Commission A/c

A 6.000
B 1,581 7.581
To Profit transferred to :
A's Capital Al 23,714
B's Capital Alc 7905 31,619
50,000 50,000
Partner's Current Account
Dr Cr
A B A B
Particulars Rs. Rs. Particulars Rs. Rs.
To Drawings Alc 8,000| 6,000 | By Balance b/d 50,000 | 30,000
To Balance ¢/d 74,714 | 41,286 | By Interest on Capital Alc 3,000 1,800
By Commission A/c 6.000 1,581
By Salary Ale 6,000
By P/L Appropriation Alc 23,714 7,905
82,714 | 47286 82714 | 47,286
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‘Working Notes :
1. Calculation of Interest on Capital

Interest on A's Capital =50'OOOXF6O =3,000

Interest onB's Capital = 30,000 x % =1,800

2. Calculation of Commission
Commission to A = 2% on Turnover

=2 3,00,000=6,000
10

Commission to B = 5% on Profits after all expenses (including Commission)

Profits after all expense
=Rs.50,000 - Rs.4,800 - Rs.6,000 - Rs.6,000
=Rs.33,200
Rate
Commission toB =Profit after all Expenses x ——
100 +Rate

5
=33,200 x ——=1,581 (App.
* 105 (App.)
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3. Calculation of Share of Frofit of each Partner
Profit available for Distribution

=Rs.50,000 - Rs.4,800 - Rs.6,000 - Rs.7,581
—Rs.31,619

Profit sharing ratio =3 :1

A'sProfitShare = 31,619 x%

B's Profit Share = 31,619><4l1

Question 48.

A, B and C were partners in a firm having capitals of % 50,000 % 50,000 and ¥ 1,00,000 respectively. Their Current Account balances were A:Z 10,000; B: ¥ 5,000 and
C: 72,000 (Dr.). According to the Partnership Deed the partners were entitled to an interest on Capital @ 10% p.a. C being the working partner was also entitled to @
salary of % 12,000 p.a. The profits were to be capitals:

(a) The first ¥ 20,000 in proportion to their capitals.

(b) Next % 30,000 in the ratio of 5:3:2

(c) Remaining profits to be shared equally

The firm earned net profit of Z 1,72,000 before charging any of the above items

Prepare Profit and Loss Appropriation Account and pass necessary Journal entry for the appropriation of profits.
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Question 11.
Aand B are partners. A's Capital is % 1,00,000 and B's Capital is % 60,000. Interest on capital is payable @ 6% p.a. B is entitled to a salary of 3,000 per month. P
for the current year before interest and salary to B is ¥ 80,000. Prepare Profit and Loss Appropriation Account

Solution:
Profit and Loss Appropriation Account
Dr. Cr.
Particulars Rs. Particulars Rs.
To Interest on Capital: By Profit and Loss (Net Profit) 80,000
A's Al (6% of 1,00,000) 6,000
B's A/c(6% of 60,000) 3,600 9,600
To Salary to B's A/c (3,000 x 12) 36,000
To Profit transferred to :
A's Capital Ale
B's Capital Alc 34,400
80,000 80,000
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X.Y and Z are partners in a firm sharing profits in 2: 2 1 ratio. The fixed capitals of the partners were : X 5,00,000; Y % 500,000 and Z ¥ 2,50,000 respectively. The
Partnership Deed provides that interest on capital is to be allowed @ 10% p.a. Zis to be allowed a salary of % 2,000 per month. The profit of the firm for the year
ended 31st March, 2018 after debiting Z's salary was % 4,00,000. Prepare Profit and Loss Appropriation Account.

Solution:
Profit and Loss Appropriation Account
Dr. cr.
Particulars Rs. Particulars Rs.
To Interest on Capital A/c By Profit and Loss A/c 4,00,000
X (10% of 5,00.000) (Net Profit after Z's salary )
Y (10% of 5,00.000)
Z (10% of 2,50,000) 1,25000
To Profit transferred to :
X's Capital Al
Y's Capital Al
Zs Capital Alc 2,75,000
4,00,000 4,00,000

Warkine Nafac -
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Question 14.

Prem and Manoj are partners in a firm sharing profits in the ratio of 3.: 2. The Partnership Deed provided that Prem was to be paid salary of % 2,500 per month and
Manoj was to ger a commission of Z 10,000 per year. Interest on capital was to be allowed @ 5% p.a. and interest on drawings was to be charged @ 6% p.a. Interest
on Prem's drawings was % 1,250 and on Manoj's drawings was % 425. Interest on Capitals of the partners were Z 10,000 and % 7,500 respectively. The firm eared @
profit of 2 90,575 for the year ended 31st March, 2018, Prepare Profit and Loss Appropriation Account of the firm.

Solution:
Profit and Loss Appropriation Account
Dr. cr.
Particulars Rs. Particulars Rs.
To Salary to Prem By Profit and Loss Alc
(2.500 x 12) 30,000 | (Net Profit) 90,575
To Commission to Manoj 10,000 | By Interest on Drawings A/c:
To Interest on Capital A/c: Prem 1,250
Prem (5% of 2 Lacs) 10,000 Manoj 425 1,675
Manoj (5% of 1.50 Lacs) 7500 | 17500
To Profit transferred to:
Prem's Capital Alc 20,850
Manoj's Capital Alc 13,900 | 34,750
92,250 92,250
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Reema and Seema are partners sharing profits equally. The Partnership Deed provides that both Reema and Seema will get monthly salary of Rs 15,000 each,
Interest on Capital will be allowed @ 5% p.a. and Interest on Drawings will be charged @ 10% p.a. Their capitals were Rs 500,000 each and drawings during the year
were Rs 60,000 each. The firm incurred a loss of Rs 1,00,000 during the year ended 31st March, 2018. Prepare Profit and Loss Appropriation Account for the year
ended 31st March, 2018,

Solution:
Profit and Loss Appropriation Account
Jfor the year ended 31 March 2018
Dr. Cr.
Particulars Rs. Particulars Rs.

To Profit and Loss A/c (Loss) 1,00,000 | By Interest on Drawings A/c:

Reema 3,000

Seema 3,000 6.000

By Net Loss transferred to:
Reema Capital Alc 47,000
Seema Capital Alc 47,000 94,000
1.00.000 1.00.000
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Bhanu and Partab are partners sharings profits eqully. Their fixed capitals as on 1st April, 2077 are  8,00,000 and * 10,00,000 respectively. Their drawings the year
were ¥ 50,000 and ¥ 1,00,000 respectively. Interest on Capital is a charge and is to be allowed @ 10% p.a. and interest on drawings is to be charged @ 15% p.a. Profit
for the year ended 31st March, 2018 was  1,20,000. Prepare Profit and Loss Appropriation Account.

Solution:

Profit and Loss Appropriation Account
Jfor the year ended 31 March 2018
Dr. Cr.
Particulars Rs. Particulars Rs.
To Profit and Loss A/c (Loss) 60,000 | By Interest on Drawings Alc:
(1:20,000 - 1,80,000) Bhanu Current Alc 3,750
Partap Current Alc 7,500 11,250

By Net Loss transferred to:
Bhanu Current Alc 24,375
Partap Current Alc 24,375 48,750
60,000 60,000
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On st April, 2017, A and B entered into partnership contributing % 60,000 and % 45,000 respectively. They agreed to share profits and losses in the ratio of 3: 2. Bis
allowed salary of % 12,000 per year. Interest on capital is to be allowed @ 10% p.a. During the year, A withdrew % 9,000 and B withdrew ¥ 18,000 as drawings, Interest
on drawings paid by A and B were ¥ 150 and % 210 respectively. Profit for the year ended 31st March, 2018 before the above adjustments was % 35,000. Show
distribution of profits by preparing Profit and Loss Appropriation Account of the firm. Prepare Partners Capital Accounts also.
Solution:
Profit and Loss Appropriation Account
for the year ended March 31,2018

Dr cr
Particulars Rs. Particulars Rs.

To Salary to B 12,000 | By Profit and Loss A/c (Net Profit) 35,000
To Interest on Capital By Interest on Drawings Alc

A 6,000 A 150

B 4,500| 10500 B 210 360
To Profit transferred to :

A's Capital Al 7716

B's Capital Alc 5144 12,860

35,360 35,360






